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Question Number : 1 Question Id : 3354726731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich city is known as the ‘commercial capital’ of Madhya Pradesh? | @19 A7 S5¢ e W4T & 'S0 a0 (Rael=r &
0 H AT AT 57

Options:
1. ® Bhopal | 9
= % Indore | 32T

3. % Jabalpur | S&EAYY
4 ® Gumlior| e

Question Number : 2 Question Id : 3354726732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich state has appointed Geetha Johri as its first woman DGP? | o =g 3 a1 g 7 0= Uget HigeT Sreil
@ = o T o &7

Options:

1. ® Punjab | 7=

2 % [Jttar Pradesh | Z9¢ 024

= % Madhva Pradesh | mea 0ea

4 % Gujarat | =0T

Question Number : 3 Question Id : 3354726733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the first Indian to obtain fellowship in the prestigious Royal Society? | WRETET 14 ArdEer § ST o
T T T R 1 i 47

Options:

1. # SN Bose | TH.UAEE

2. % 5. Rarmanujan | Td. A=

2 ® ].C Bose | S € e

4. ¥ Ardaseer Cursetjee | ZA TEaAT

Question Number : 4 Question Id : 3354726734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the leader of the first Indian expedition to Antarctica? | SEEEHET H TEe WG 27 STTH o 397 &1 47

Options:

1. % G.5. Sirchi | =it oe &gt
2 ¥ 5.7 Casim | TS H6H
% % 5.5 Sharma | TE.09. ST

4 % 5T Kulkarni | TF.CLFaw001

Question Number : 5 Question Id : 3354726735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which state in India has the largest coal reserves? | ARG # 19 9 770 H Tad 92T FIAT 9K 57

Options:

1. ® Eihar | g™
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2. ¥ Jharkhand | SIREs
Z. % Madhya Pradesh | T2 0
4, % ‘West Bengal | TR A

Question Number : 6 Question Id : 3354726736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Tational I%Iaritime Dav’ 15 celebrated in [ndia o ______ of every vear | 'Uﬁﬂﬂﬂéﬁ”ﬁﬂﬂ‘ YT HET A ________
T AT

Options:

1. % Sth April | 5 afd

2. % Fth April | 7 a0
= % oth April | 9 @A
4, % 11th April | 11 ama

Question Number : 7 Question Id : 3354726737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Part IV & of the Indian Constitution deals with: | W12 T T ATV A Torae G0 w@ar s

Options:

1. ¢ Fundamental Duties | T# Fd el

2. % Fundamental Rights | Afea &

Z. % Directive Principles of State Policy | TF & A1id Meamr g
4, % Citizenship | FTEET

Question Number : 8 Question Id : 3354726738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which II'lfOS‘j.FS co-founder returned to its board as non-executive, non-independent chairman in 20177 |

T ITET T i 1 TE—Heee 2017 H TR-siam, e ey o w1 1 e aE o e

Options:
1. % MNarayan Murthy | =0T g

2 % 5 Gopalakrishnan | TH. T
= ¥ Nandan Nilekani | 52 @0
4. % N.5. Raghavan | U-.09. Trga-

Question Number : 9 Question Id : 3354726739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which state or union territory has French as one of the official languages? | ra T4 2T doaniad naar &
TTERTTE ATaTelt # & Ue the 27

Options:

1. ® Nagaland | AR

2 % Daman & Diu | g9 e giF
3. % Mizoram | FRRE

4« puducherry | ggeiil

Question Number : 10 Question Id : 3354726740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

MName the Indian whose poermn was adopted as the National Anthern of Bangladesh? | 3% WG T 17 s
T idaT BT AT & TP T o &0 H S0 T 4077

Options:

1. # Sharat Chandra Chatterjee | SRd =i a1
2. % Rabindranath Tagore | Tea-RT 20T

% % Bankim Chandra Chatterjee | aftFH =g =2

4 % Bibhuti Bhushan Mukhopadhyaya | Tengfa sqor gaimemr

Question Number : 11 Question Id : 3354726741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich state in India is the largest producer of rice? | ART # T T T AT FT Tl g9=T IcTEF 57

Options:

1. % Tarnil Madu | fIFrIFlg

= % andhra Pradesh | 3T

Z. ® Haryana | gregmm

4. ¥ West Bengal | THH A

Question Number : 12 Question Id : 3354726742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eharat Ratna awardee Bismillah Khan is famous for which musical instrurment? | VR e [T el fetear
W Tepe wriia g o o0 niteg 87

Options:

1. % Tabla | T

2. ¢ Shehnai | SEATE
% % Viclin | T

4 % Flute | sigir

Question Number : 13 Question Id : 3354726743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which vear did India win its first cricket World Cup? | AT = WA firdre Toea &0 T ag | SiaT arr

Options:

1. % 1999
Z % 1996
3. % 1992
4 ¥ 1983

Question Number : 14 Question Id : 3354726744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Mandla Flant Fossils MNational Park is located in | =ATETsm I FEIE (HEAT WA SaTed T JE)

Options:
1. ¥ Karnataka | ®icH
2. % West Bengal | TR A

3. %* Rajasthan | {Fe=
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4. ¥ Madhya Pradesh | TEWET

Question Number : 15 Question Id : 3354726745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The carvings in the Umaria temples have resemblance to ___ | T Al H AT o T 2]

Options:

1. ¥ Khajuraho [g=wg!
2. % Sanchi Al

Z. % Crchha [3vET

4. % Sonagiri [T

Question Number : 16 Question Id : 3354726746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Adegacn Fort located? | ST &7 fofeT FgT 09 27

Options:
1. ¥ Hoshangabad | Siammeme

2. % Burhanpur [gEHIT
3. ¥ Seoni | TeEET

4 % Datia | ==

Question Number : 17 Question Id : 3354726747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where are the Pandava Cawves in Madhya Pradesh situated? | 72 wea ¥ Uiza BT g1 90 87
Options:

1. % Pachmarhi | T=RET

2. % Bhojpur | 9T
= % Udavagiri | IS4

4 # pAmarkantak | SAETE

Question Number : 18 Question Id : 3354726748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When was Van Vihar (Bhopal) declared as a national park? | @4 A5 (0TA) T8 S0 @ g e 74T 417
Options:

1. % 1331

2. % 1978
3. % 1930
4. % 1983

Question Number : 19 Question Id : 3354726749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ater fort of Bhind is located on the banks of river. | THE ®T AT AT

____________ qET I TR TR A
Options:

1. ® Narmada | 98T

2. ¥ Charnbal | T&e
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3. % Sindhu | Ty
4 % Betwa | sdar

Question Number : 20 Question Id : 3354726750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first woman Chief Minister of Jarmmu & Kashmiris ___________ | ST FH T i Oge ! HigeT EaEa T

Options:
1. ¥ Shamuma Jain | SFATAT

2. ¥ Mehbooba Mufti | AgeaT gwdl
3. % Syeda Anwara Tairmur | 8987 S 347
4 % Manju Kak | A5 #TF

Ceneral Maths and General Aptitude

Section Id : 335472199

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 335472199
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Aruna, Ehama and Chitra have some amount of money. The respective ratio of the money that Aruna and
Ehama had is 7:15 and the respective ratio of the money that Bhama and Chitra had is 7:16. If Aruna has Rs.
490, then the amount of money Chitra has is______ .| ST, THT S AT & UTH o 1S B S ofR 9T @ ure

AT &1 20T FERT HaTeld AT 7: 15 & Ua WTAT 31T =T o U o € @ Hered a7 16 g1 Al S0 3 O 490 w0 E,
IPEIE RG] W 2 Tl

Options:

1. % Rs. 1050 | 1050
o % R 2000 | 2000 T3
3. % Rs. 2150 | 2150 73

4 % Bs 2400 | 2400 =0

Question Number : 22 Question Id : 3354726752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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40 people participate in a computer course where there are 5 adults, 15 boys and 20 girls. The average age of

the whole group is 17 years. If the average age of the girls is 15 and the average age of the boys is 14, then the

average age of the adultsis_____ | T TR UTErel | 40 FNT AT &id § FsH S aa%®, 15 dgar K 20 agﬁm%ﬁ
ST B 17 & & aﬁmfﬁWWIS 2 ofiT It A ST g 14 2 FT e 7 ST o

Options:
1. % 20
2. % 25
2% 30
4. ¥ 24

Question Number : 23 Question Id : 3354726753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the radius of a circle whose circurnference is 44cm. | U 99 @1 w27 J1 & T T 44877 21

Options:
1. %35
2. % 14
397
4 % 9

Question Number : 24 Question Id : 3354726754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If p(x) = 3x>ax+1 and p(1) =2, then what is the value of ‘a’? / TTE, pix) = 2-ax+1 AT p{1) =2, dT 'a' &I
HIA & 57

Options:
1.%1
2. ¥z
3% 3
4 % 4

Question Number : 25 Question Id : 3354726755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | sfHa Faiem
15, 25, 35, 45, 55

Options:
1. % 25
2. % 30
3. % 35
4 % 40

Question Number : 26 Question Id : 3354726756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If & men can make 8 carpets in 8 days, then how many carpets would 16 men make in 16 days? | I 8 U&Eq 8
At # 8 T T |obd &, 99 16 EW 16 ﬁﬁﬁﬁﬂﬁaﬂﬁﬁ:ra:rra%?
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Options:
1. % 16
2 % B
3.9 32
4. % None of the above | 39g® § & ®1E 51

Question Number : 27 Question Id : 3354726757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

0.56 x0.064x144

0.8x0.07%0.4x 12
Options:

1. ¥ 192

2 % 1492
3% 192

4 % 0192

Question Number : 28 Question Id : 3354726758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the area of a square field is 14641 sq.m., then its perimeter is: | Tig TF SRR ASH & 4364 14641 a1 #1215,

TT SHEHT TICATT &
Options:

1. % 480 m | 480 #f
2 % 482 m | 482 0t
3 v 484 m | 484 AT

4 ® 4RG m | 486 AT

Question Number : 29 Question Id : 3354726759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a string MATHEMATICALMATHEMATICAL .. MATHEMATICAL, where MATHEMATICAL is repeated 10 tirnes

we successively remove odd position letters from the original string and the successive residual strings also.

What is the last letter left? | §F MATHEMATICALMATHEMATICAL . MATHEMATICAL H 5T MATHEMATICAL

m 10 ng TH OF §F & Iqaciqada; ouH S o T argR i geraT S i Iueiae 4 gaf u |t uar T
STET FT &

Options:
1. % 4
2. ¥ H
3% C
4 % T

Question Number : 30 Question Id : 3354726760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Solve: (75)2— (45)2=30* 7/ Bl hIlIT: (75)2 — (45)2=30* 7

Options:
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1. % B0
oW 1En
Z% a0
4. % Plone of the above | Iud® § & HIE 751

Question Number : 31 Question Id : 3354726761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

After giving a discount of 20%, a shopkeeper made a profit of 20%. Find the ratio of the marked price to the
cost price. | 20% i FT WS B & WA, T G Ha | 20% @7 6T HTH [ sifhd gra &1 79 §7d § S/u |1d &4

Options:
1. %54
2. % 43
3. ¥ 32
4 % 21

Question Number : 32 Question Id : 3354726762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a mman can row 30 km downstream and 18 km upstrearn each in 2 hours, then what is the spead of boat in

still water? | AT FIE =iy UF A1 #1 3 T # 30 TorAT T &7 T2 § Ua 39+ 5T 99g § 9T & [9eg 18 it ¥ 9T 8, a1
T art o AT T i e E

Options:

1. % 8 km/hour | 8 AT eeT

2. % 10 kmjhour | 10 &t =ET
% % 12 kmjhour [ 12 T EET
4. % 15 kmjhour | 15 &t E=RT

Question Number : 33 Question Id : 3354726763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The respective ratio of the father's age to his son’s age is 12:5. The product of their ages is 1500, The ratio of
their ages after 10 years will be: | AT &7 311 &1 I8HF Y H1 arr-gﬁaaﬁg?r SUTT 12:5 31 Ikl ST T UGS 1500 2
10 oY WalTd FehT T T ST 5

Options:

1.% 32:2
221
3% 43
4 % 11:.7

Question Number : 34 Question Id : 3354726764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The prime numbers dividinggl 09 and leaving a remainder of 4 in each case are: | & 3= 9E0 =9 109 &
F I We2id e9rd | 4 4 e g7 &

Options:
1. ¥ Sand7? |57

2 ® 2and 11 /2 awll
T % 2and 737
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4 % 11and 13} 11 w13

Question Number : 35 Question Id : 3354726765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The least corromon mualtiple of two numbers is equal to their product, Iftheu%ven product is 25, What is the

highestconu%%onfactor?xaﬁwaﬁmﬂgaﬂﬂmuaﬁmwﬁ?w% TeT TR %A 35 &, 9 Agud
CENES

Options:
1.9 1
2. %5
387
4 % 35

Question Number : 36 Question Id : 3354726766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ifxf - 16x° + 12 x* — 2x% + 10x? — 20x + 5 is divided by x — 1. then the remainderis . Jafe x5
S16x7 + 12 x4 — 253 + 10x2 — 20x + 5 FT x — | CART TAeMTaid foham S &, af 99mer
Bl

Options:
1. % 10
2 %5
3% -5
4 ¥ -10

Question Number : 37 Question Id : 3354726767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of the first four prime numbers is: | WA T ST TETHT 3T T 5

Options:
1. % 10
2. 0% 11
2% 16
4.9 17

Question Number : 38 Question Id : 3354726768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many different 4 digit numbers can be formed using the digits of 50097 | 5009 @ 37! @1 JUAN F a1
Torferg 4 TR & AT T | 57

Options:
1. % 2
2 ¥ B
2% 12
4 % 18
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Question Number : 39 Question Id : 3354726769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At a gathering of 20 people, there are 20 people who all know each other and 10 people who know rno one.
People who know each other a hug and people who do not know each other shalee hands. How many

handshakes occur? | 30 AN & H 20 maﬁ%ﬁw—g‘:aﬁmﬁﬁaﬁf 10 AT UE & A7 Terelt @1 AT 751 A 2
e G T A a6l T Tl TR 5 SI1E Uer-GAL Bl A5 ST alTel e ghr T g1 ferer=T grer Themy =ima 57

Options:

1. % 240

2 o 245

3. % 290

4 % 450

Question Number : 40 Question Id : 3354726770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

O a train trip to Bombay from Chennai, Amuda sat in the Sth carriage from the front and Ealu sat in the 10th
carriage from the back. There were two carriages between Armuda and Balu. Amuda was after Balu in the train
fromm engine to end. How many carriages were there in the train? | =g & ates &1 U@ & a1 0, Sier ot « 849
Taea 7 38T offt AT & 107 T2ed 7 San anger offt e ¥ St €1 Reer 9 SO & SRt R a9 & CATIET H Srgar e
aTg o W H ﬁ;ﬁ% 7

Options:

1.9 14

2. % 18

Z % 15

4 % 16

CGeneral Hindi

Section Id : 335472200
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472200
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
e == Fife -
Options:

1=
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2 %7
3% g
4 ¥ 7

Question Number : 42 Question Id : 3354726772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
anf & 0T BT B

Options:
1. % 5¥a, wo, Wwd
2. ¥ T, S, SR

3. % Ty e
4. % Hu T HgE an

Question Number : 43 Question Id : 3354726773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST &I 2TeT 955 § -
Options:

1. % foe

2. ® afd

= ¥ O

4 % fl

Question Number : 44 Question Id : 3354726774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

-1 T S1fd TTAT T3 § -
Options:

1. % fevouft

= ¥ IS

3. % aEm

4. % T

Question Number : 45 Question Id : 3354726775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:
1. %9
2. %0
3.¥ g
4 %7

Question Number : 46 Question Id : 3354726776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T T UG 9 H H ® T AT ey

Options:
19th Dec17 Shift 1



19th Decl17 Shift 1
1. % aF7
2 % Sea
3 % g

4. ey

Question Number : 47 Question Id : 3354726777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rt 0l ST 2 3 39 oo g Py @ wm ar 27
Options:

1. % |oer

2. % g

3% gy
4. & qan

Question Number : 48 Question Id : 3354726778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T WA e TR A FE AT e
Options:

1. % IT+uR

> % Ia+ET

3. ¥ JTHER

4. % FTY+UT

Question Number : 49 Question Id : 3354726779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T W AT geg R H EE AT gy
Options:

1. % 41

2 % a0
3. i

4 % 9

Question Number : 50 Question Id : 3354726780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘AT IuE # 4T Jeg A H G A 27
Options:

1. % foepor

2. % aaad

3. ¢ s

4. % arEar

Question Number : 51 Question Id : 3354726781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘gEdg Teg B HE O | @9 61 a0 27
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Options:

1. & TR 90

2 % e

3. ® goyTy 9A

4, ® ity gumg

Question Number : 52 Question Id : 3354726782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“H1E S W T qETa @7 el g A S w T ar g
Options:

1. % g 5T

2. % O dE ¥ A9 T

=, o Jith 54T

4, % TEer g A

Question Number : 53 Question Id : 3354726783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘AT W g T N H R AT

Options:

1. % @A
= 3
3. % T
4. ¥ &

Question Number : 54 Question Id : 3354726784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST T o T g 57
Options:
1.% 0
2 %1
3.2
4 % 3

Question Number : 55 Question Id : 3354726785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT A7 Tere] T o, 5 Fret i o,
ATt BT, T T G R
H I AT SAw R 5 T5f oW g

Options:

1. & aridaris sAaT
2. % T AT

% % JUAT STAET

4. % FOUMT AT
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Question Number : 56 Question Id : 3354726786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

JUH AT Meg gy - aEs
Options:

1. % aAfdw

2 ® yidgd

3. o e

4 ® g TEH S

Question Number : 57 Question Id : 3354726787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
EET a3 B W A B
Options:

1. % o= |her

2. Tae e

3. ®

4 % 17 ETEr

Question Number : 58 Question Id : 3354726788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o Ty et § | vai Jee-g E -

Options:

1. % =it - g
2. % gd-3uad
3 % d- g
4. & Tia-des

Question Number : 59 Question Id : 3354726789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AATET Seg @1 Hal AIHIG® [90% & -

Options:

1. % o & gr o
2. ® O AR aAr
3. ® g9 gRe amer
4. & 7T W ATAT

Question Number : 60 Question Id : 3354726790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
aged Jeg H @ |T /i 37
Options:

1. % =

2 %o

3 % ey

4 % g
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Fural Econorry and Panchavati Eaj

Section Id : 335472201

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472201
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What was the estimated area under certified organic farming in Madhya Pradesh as of 20107 [ 2010 %

TN | WHTOIT ek W1 3 dga SIgHT-a &1 2T o017
Options:

1. % 5.EZlakh hectares
2 ¥ 1 48 lakh hectares
3. % 054 lakh hectares
4. % 2 85 lakh hectares

| 5.52 @ gFeaT
[ 1.45 AT AT
| 0.54 @7 gFeaw
| 2 85 AT gFeaT

Question Number : 62 Question Id : 3354726792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which is the authority designated for implementation of MNREGA in Madhva Pradesh? | He n&ar § H6mT 27
T 3 Tl @1 &1 AT w7

Options:

1.IO ¥ WP State Ermployrment Guarantee Council | A TEa T4 TATR TR F 26

2. % MP State Labour Departrment [ 7 WS4 T &1 4H T

% % MP State Rural Developrment Department | e 0T T2 &7 TTH T T Em
4. % MP State Foad Development Corporation | e WSd T-0@ G5@ @ =TH

Question Number : 63 Question Id : 3354726793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what is the percentage of seats reserved for OBECs in Panchavats in Madhya Pradesh? | 720 nea # t=mat # g
e i

Options:
1. % 10%
> ® 20%
3. ¥ 25%
4. #® 33
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Question Number : 64 Question Id : 3354726794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under Mukhya Mantri Annapurna Yojana in Madhvya Pradesh, wheat is supplied to EPL farnilies at what rate? |

He T # G WAL ST AT o qRd, S Tieare! &1 Ty ol ST o 3¢ U 1 S 1 57

Options:

1. % Rs4/-kg
Z % Rs3|-kg
3. % Rs2/-kg
4 ¥ Rs1|-kg

Question Number : 65 Question Id : 3354726795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Union Cabinet has approved the Establishment of _______ at Amlaha, Sehore. | T ATASA =, VAR, 9ER
# fﬁwwaﬁqu%ﬁ%

Options:

1.p ® Indian Agricultural Research Institute | a1 F el TEm=T

2. % National Agricultural Eesearch Institute | TTET ST el Feam=

3. % Central Research Institute for Dry Land Farming | Hga 6 sEeIeg B 215 6 1A
4. ¥ Food Legumes Research Platform (FLEF) | TR Sierar e toe B (THTASTR

Question Number : 66 Question Id : 3354726796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Loans under Swarna Jayanthi Gram Swarozgar Yojana are granted to _________ | Faut T T TTH FECRATT T
T o TRt 0T wg T Tora ST gl
Options:

1. % Individual borrower | SORETT FUNETT
2. % Two joint borrowers | 3f 9% JUREd|
3. % Entire village a5 a unit | TF 3915 & &7 § G 7T

4 Self Help Groups | o< 9541 9051

Question Number : 67 Question Id : 3354726797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Mo, of GI'EI.IITL PEI.HChEI%EltS Corerad i;‘l India LlI'IldEI' MGMNEEGS asin 2017 is hetweer
(AT OF SaTd a8 S FTe T U=Tad | o gy

Options:
1. % 2E0000-255000

2. % 25E000-2E0000
3. ¥ 2E1000- 265000
4. % 2EE000-270000

2017 9%, MIMEEGS

Question Number : 68 Question Id : 3354726798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Lahiri Committes was associated with: | ATEeT TS TEE Hekg T

Options:
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1. # Industrial Sickness | sl somET

2 % Minirmum Support Prices of Agriculture Products | 1Y Ied1g| @& ~IAdA G2 grd
3. ¥ Price Structure of Edible Cil | e d@! @1 Jed ST

4 % Handicraft Exports | gaaided & FiT

Question Number : 69 Question Id : 3354726799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In August 1971, the Expert Cormmittes headed by ________
introduce crop insurance in near future even on a pilot basis. | em&T 1971 #,

 ereare TrepTaT 1o T wieear © Wi 91 U7 At W sTAT ® OF B0 SR TR g
Options:
1. ® Priolker Corrmmittes | NEHATET FiHid

concluded that it would not be advisable to

T STETAAT AT T et

2. % Dharam Narain | &0d 9
2. % v M Dandekar | 3 TH S22
4, % Narasimhan Committee | TEREFET T

Question Number : 70 Question Id : 3354726800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Panchavati Eaj Systerr, at all three levels, will be established in all the states which have the population

more %mn _____ Lacs. | &t F141 Fa<t uv v T T TET, 3wt Tt B S @ T e STy A A

Options:
1. % 10
2 ¥ Z0
3. % 20
4. % 40

Question Number : 71 Question Id : 3354726801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In which schedule of the Constitution, are the tribal areas of Madhya Pradesh covered? | ®Yerem & e srfer
H AT UG & STiCare! 831 T ot T T 477

Options:

1. ¥ Schedule 5 | SREET S

2 % Schedule & | T 6

3. % Schedule 11 | argaET 11

4. % None of the above | 598 & F1E 751

Question Number : 72 Question Id : 3354726802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the objective of System of Rice Intensification (SRI) in Madhvya Pradesh? | T2 wdar # 1aa d o e &
TOTTEAT {QHETITE-FI% T TE AT FAT 57

Options:

1. # Ensuring employment to rural youth | TTHT gdldﬁﬂﬁuwm EEAR TR
2. % Promotion of non-farm activities | TR-F THTATET &1 @g1@T 247

% % Promotion of fisheries | AFT UTA @1 @2 1aT 24T
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4, % Enhance productivity in rice cultivation | =T @1 ST H IoqEwaT g =T

Question Number : 73 Question Id : 3354726803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rg%mat is t%?e most important objective of Sansad Adarsh Gram Yojana? | dide gl T AT T Gaired Ageaqi
S FT 5

Options:

1. % Promotion of agriculture in villages | Tat § FiE & @g1a7 247

2. ® Increasing rural employment only | TTHIT TRTRE H Jhkg FeAT

= ¥ All-round holistic development of a village | U5 T T G GAT THeEme

4. % Supporting education in villages only | &g T # &y & T &

Question Number : 74 Question Id : 3354726804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Latest varieties of seeds are available to farmersat _________ | Tl o T
AT I B &

Options:

1. ¥ Village co-operatives | TTH TgFRT #g
2. % Cpen markets | AT IR

3. % Seed hubs | =2 ga

4, % Panchayat offices | V=TT FTAT

Question Number : 75 Question Id : 3354726805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following awards is associated with agriculture in India? | YRT # Fg # € &9 97 (@R 19 9§ Gaied

Options:

1. ® Shanti Swarcop Bhatnagar Award | Sid F5%0 9T e
2 ¥ Borlaug dward | SR QERT

2. ® Kalidas Sarmman | wieEng e

4 % Dronacharya Award | SRR [TERT

Question Number : 76 Question Id : 3354726806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Swajaldhara’ is a project at Panchayat level relating to

LEIEGE
Options:

1. ¢ Self-sufficiency in drinking water in rural areas | TTHT 831 § = F o= § aerRt-rdear
2. % Canal Irrigation | 95¢ W=E

3. % Minor irrigation | &9 #=mE

4 % Major irrigation projects | THE RETE THARETT

Question Number : 77 Question Id : 3354726807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The compilation of project initiatives under Saansad Adarsh Gram Yojana bears which of the following
NAarmes? | ATEE AT UTH AT & STaid AT agal 1 T, T # & o A & frar =T g7
Options:
1. % Ummeed | I

2. % Sankalp | 9%e0

% % Sahayog | FEam
4. % Sankalan | @

Question Number : 78 Question Id : 3354726808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT an objective of Pararmparagat Krishi Vikas Yojana ? | TUCHTT g1 Felame 2= @1
TaEET # 9 97 UF 54T ARl 57

Options:
1. ® Improve soil health and organic matter cortent | Yol & Tamraed T Aiow gl arit ¥ g H e
2. % Promote organic farming | AT 9 & g = a7

=. ¥ Eradicate all other types of cultivation | 7 @4t TR &7 ST B I-a- BT

4. % Certification of organic produce by involving farmers | a1 &1 AT T Tel =@ SodTa BT THI @

Question Number : 79 Question Id : 3354726809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In India, the Environment (Protection) Act was enacted in
TR TT=IT €771

Options:

1. % 1947
=z ¥ 1926
3. % 1991
4. % 2008

Question Number : 80 Question Id : 3354726810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In 2010, about 85 per cent of India production of silk was contributed bg State by rearing

multivoltine hybrids of silkworrm. | 2010 ®, CIH & SIS ! & g Tl (Hele [Ire e pIE s & UTe- o
BT, T H Ff (I o JoHIe 1 T 55 Hidad Tmer o =T 21

Options:

1. # Andhra Pradesh | #Ter w2ar
2. % Punjab | T

2. ¥ Karnataka | Tic®

4. % Madhva Pradesh | T2 0q

Cornputer Knowledge

Section Id : 335472202
Section Number : 5

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
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Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472202
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Inn cornpuater security, ________ Ireans that computer S}rstem assets can be modified on 5? authorlzed parues.

| PR qOETH, ________ T a7 & ToF dege} ey uiEuTat ®t eﬁl@ruﬁmﬁmﬂ
Options:

1. # confidentiality | TO=T=aT
2. ¥ integrity | 34T

3 #® availability | STAGET

4, % guthenticity | WHTTOEIT

Question Number : 82 Question Id : 3354726812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following can be used to connect a keyboard to the computer? | T # & fraeT Iuai, &S ®1
FHET o A= o ol T =7 weaT 27

Options:

1. % video Graphics Array (VGA) port | ST Uit X (S0 018
2 Universal Serial Bus (USE) port | I-aes S o (JUesh) e
% % Ethernet port | T2t 018

4. % FireWire port | B1aaiay 0E

Question Number : 83 Question Id : 3354726813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to enter the current tirne in M3 Excel? | TAUST UFad H, S0 G0 Hiege 3 & o] e
ATETT W BT T AT 57

Options:

1. # Ctrl+5hift+<
2. % Ctrl+5hift+;
3. % Ctrl+Alt+T

4. % Ctrl4+Tab+T

Question Number : 84 Question Id : 3354726814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the purpose of the "Sort’ feature in MS Excel? | THTE TFEA § |1 Hiek #1 F4T 50T AT 87

Options:
1. ® It creates names for a range of cells | =I5 T &1 (= & ol 779 e 4T 3
2 % It filters a range of cells for a value | I Tt 019 & ToT Ae@ &1 6 @1 oo Far 2l
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3. % It groups rows and forms an cutline | I 31 B AET FGT 5 AT TF ATITATE B -7 5l

4 ¥ It organ_iges a range of cells in alphabetical or nurmerical order | g Hed &1 (= @I auiewd A7 ST F0 H
AT

£

Question Number : 85 Question Id : 3354726815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a Browser? | fT3e) Fa7 §1aT1 57

Options:
1. % in HTML systern | U Ul AT TEHer
= ® 4 Server | W HoT

3. ¥ & software program that enables you to view www dOCUments | @ AIFedam T ST 30T v STHgHe
ST H WEH T Bl

4. % Hierarchical scheme for indication logical and sometimes geogra%l(l:i[cal venue of a web-page from the
AT

network | HTad & U de U T qTied 1 ad gt e i o dda o

Question Number : 86 Question Id : 3354726816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a web browser? | AT § & F97 0% od #1377 51 &7

Options:
1. ® Google Chrome | T0TH ®0
2. % Mozilla Firefox | AINAT BTERG G

3. ¥ Visual Studio | EeT qgiEar
4 % Internet Explorer | $0-¢ TEaIART

Question Number : 87 Question Id : 3354726817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one is the graphical representation of algorithri? | S8 & FT UelTT A ®T STeE! e g7

Options:

1. % Syntax | Fegd

2. % Program | WOTH

3. ¥ Flow chart | Tl T8
4. % Bar graphs | 9% 1%

Question Number : 88 Question Id : 3354726818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following keys is use to delete 3 character to the left of the cursor in M3-word? | THIE T2 o
T o e AT o STHT Wl Tt 3 Toiy oy T | & Ty it T JriT ey

Options:

1. % Enter | Te¥

2 ® Delete | f&dlT

3. ¥ Backspace | sgud

4 % Insert | A6

Question Number : 89 Question Id : 3354726819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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A 41§ qF F #F oy e ST 8
Options:

1. % Ctrl + Home

= % Home

3. # Page Up

4. % Page Down

The key is used to move the active cell to the cell 41 in Excel. | ________ T IO, UFad § UiFed T &

Question Number : 90 Question Id : 3354726820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WAN stands for: | WAN @7 Q0 &7 ¢

Options:

1. ¥ wide Area MNetwork | @158 T Hedar
2. % World Area Network | Ssig TR Sdh
% % Wide Agent Network | 958 Tl dead

4 % Wide Area Neutral | 5122 T T8

Question Number : 91 Question Id : 3354726821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The minirmum nurmber of rows and columns in a table in M5-Word docurnent is____. | THUY 92 STggHc § 0%
Tt H T ST FIAH T AIATH T

Options:
1.v 1x1

2. % 2x1
3% 1x2
4. % 2x2

Question Number : 92 Question Id : 3354726822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following keys makes all windows transparent so that you can see your desktop? | Faa 8 € @17 €1
T Tt et ot uRg e T a1 § o e a1 2Ewe T W 4E 6wd o7

Options:

1. % windows Logo Key + Home Key

2. ¥ Windows Logo Key + Spacebar Key
2. % windows Logo Key + Flus Key

4. % Windows Logo Key + Minus Key

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 93 Question Id : 3354726823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which option is used to see the docurment before the printout is taken? | 7 & & Uge STgEgHs @ &&- & o7 e
TeremeT @ S O T AT 87

Options:
1. ® Paste | UHT

2. % Forrmat pointer | ®18e qaiget
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3. % Cut | @
4. ¥ Print Preview | fifT fiemg

Question Number : 94 Question Id : 3354726824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The internet is also known as: | Eetde @1 5 A & HT T 76T 5

Options:

1. % NCT
2. % MAT
3. ¥ MNET
4. ® NFT

Question Number : 95 Question Id : 3354726825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_________ is the length of IP address. | SEAT U2 &I &#aE _______ §HTE
Options:

1. 32hits | 32 &

2. % g4 bits | 64 ToT

3. % ghits | 8T

4. % 16 bits | 16 T

Question Number : 96 Question Id : 3354726826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mowing process frorm main mermory to disk is known as: | 5@ BANT & 126w & gl wiwar FET sgamd! g

Options:

1. ® Transferring | ZAGRIT
2. % Catching | F=mT

3. ¥ Swmpping | T

4 % Spooling | FET

Question Number : 97 Question Id : 3354726827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which is NOT an advantage of using computerized spreadsheets? | FREFd QUSdIc o JUANT FT FAT TF AT 51

Options:

1.IO # Flexibility moving entries | Wellga eiere ! e Te
2. % Speed of calculation | =T @1 T

= % Ability to generate tables | TTEET a9 & HaT

4. ¥ Cost of initial set-up | S H2-207 & ATT

Question Number : 98 Question Id : 3354726828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process to verify the usernarne and password is knowrl a5 | JECH @ UTEaS HT TOaTud F Bl uiwar Fm &
ﬁ?erﬁGrl'cﬁ%:
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Options:
1. ® Logic | @M@
2. % Checkin | @ &q
= % Authentication | TATOTEROT
4. % authorization | ATFEEROT

Question Number : 99 Question Id : 3354726829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct :1 Wrong: 0
_________ provides the input for a voice recognition system. | UF

f}?rcrwﬁ:n & o YT M AT 2
Options:

1. % OMR | sQHT

2. % OCR | S

3. % MICE | UHSEHTHT

4. ¥ Microphone | ATEHTEA

Question Number : 100 Question Id : 3354726830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

__________ is the shortcut key used to align contents to center in MS word. | __________ @F dcde gl g e
T TATE g8 | TR gt @t et o e @ & o e AT g

Options:

1. % CTEL+L
= ¥ CTREL +E
3. % CTEL +R

4. % CTEL +]
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